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for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
OO 2fACARY Teq e

(@) What is cardinal utility?
FRIAGE Tepefare] f 2

(b) What is the marginal rate of substitution
between two perfectly substitute goods?

71 o fm TRER ovae AT s 29
797
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(2) (3)

(¢} Define income effect. 2. Write short answers of the following

W [{eeq vige fia | questions : 2x5=10
wod 2 59 T i

(d) What is meant by a: person be ‘risk (a) What is meant by slope of a budget line?

averse’?
I G T s IC@E (@1 GO Bl Wl 6 &l T 2
= i Ric
i S (b) Distinguish between gross demand and

() Why is the average fixed cost curve net demand.

rectangular hyperbola? I IR W wa BIRAE e e e |
R SRS oy =79 (c) What are short-run and long-run costs of
O Wh production?
en is the long-run average cost
L-shaped? Fh s EYE ZFIN S NN SRATH T A 2
AT 5T T (ST e L-Srpfeq =3 9 (d) Establish the relationsl'.li.p between total
utility and marginal utility.
(9) What is production function? T Toarfel S Al TAIPeR qEe e
TeofTa R 6 2 FIoF 41 |
(h) D (e) State the concept of optimum firm.
efi i
Ine expansion path. o SRR AT Dty
TREPTIRY 13 @] i |

3. Answer any four of the following questions :

(i) State the concept of shutdown point of g 5x4=20
firm. oo =] R weR Teq i -
901 2ASBE Beo 3 R 4RIt Seas =04y | (@) What is inferior good? How is it different

) from normal goods? Show it with the help

(! Define opportunity cost. of indifference curves.
S IR g iy e SR o Fefe AT 3 GEWME

S 2 7 FIECT (A9 TS (ST |
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(4) (5)

“If there is free entry of new firms in the
competitive industry, price must fall to
‘the level of minimum long-run average

cost.” Explain.

(b) Discuss how Slutsky equation explains (e)
the relationship between change in price
of a good and demand for it.

EIES RIS (et s o R EeaUs!
e e 1 S, mewf i “dfecarorer TS It g AfSPrE AT
5, ofeq 7 ey W@ e IR @9H

e Reqeat 201 <@ 17 e 40 1

(1 Give the various concepts of production
costs in brief.

{c) _Suppose the purchase of a lottery ticket
is under consideration of an individual
Let the prize be ¥ 5,000 which he will get

if he wins and suppose if he losses, he Teoe < Rfow qRapER v s
will get the consolation prize of & 10
}P:il; rt;‘:'ni?pl_’o;ef)th;t the probability of 4. Answer the following questions : 10x4=40
g 1s 0'6. Find expected m :
value of lottery ticket. aney o 2CRE Ted
5 ¢ ference theo makes a
{9 (a) “Revealed pre ry
29 o _Q'If?;ﬂ 901 B[ B R 39 major advancement in the theory of
5,000 B3 WI IEEEH WS FE cors demand.” Discuss. 10
16%@1@—@@ A e oo “opy SRR wgta oitn RRGR =ik
?"?TW'WK‘?IWQ’FTQW TS gw IR 177 HCEAs F90
P R 2'7A 0-6. 7’5 BIHBR areyifire
a1 {EH %Fo]\s‘g'[ | Or / 91

Explain how indifference curve can be
derived using revealed preference theory.

(d) Define substitute
factors. Draw isoi?infs"mp?memaw 2P ST ©gd RIS (e e @
substitutes and perfect c:omp?emelzletr fef:t A9 1R, W 40 | i
Production. Give ex g :
' amples. (b) How are average cost curve and marginal

1w i total cost curve?
o ﬁﬁ"fﬁ"’ﬁ; S g fogy | o cost curve derived from total cost curv il
RES T TR STCeoR 1t o o |

v fra | T T @R {1 FET TS T G WE A

Y (@91 SEF IR AR 2
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( 6)

Or / 9211

What is meant by optimum factor
combination in production? Explain with
the help of isoquant and isocost lines.

2+8=10

T ST &6 oA B 3@ aw e seeem
G4 W SR (49 RS 171 %4 |

(c) Explain the impact of change in rate of
interest on the consumers. Use
diagrams. 10

@H@W@H'GWWS§FIQ¢3ﬁﬁ¢$ﬁ 2SR 1
391 | foq Iz 31

Or / 241

Fill in the blanks in the following table :

3+3+3+1=10
T CIERIAS e SRER 7R 4T :
]\{umber of Total Marginal | Average
variable inputs output product product
AT P Ceama | efe e
iz Teofrs
i T T
3 = 18 30
. 4 £ 20 =
S 130 — Al
6 — 3
| -SSR - s
7
— LY 1
| S 19‘5
22A /39
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(d)

(7)

Does the production function stated in
the table exhibit diminishing returns? If
so, at what number of units of the
variable input do diminishing marginal
returns begin?

GO TEY 9 ORI FAZPE ST
fowlere T 2 I =, (9@ @ AReGTHe
IR (569 4 FRPE A1 o w498

== ?

Critically discuss the law of variable

proportion.

10

dfiqsAE e RRGH ECEbTEReE

AT 4T |

What  are
increasing,

Or / %41

isoquants?

Show the

constant and decreasing
return to scale through isoquants.

1+3+3+3=10

SO @d 7 TR (A RS
A, SR S TP Tesime A

2ifrre Ryl |
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